cT (cm) | Yield in Bin A Yield in Bin B Yield in Bin C Yield in Bin D
10 0.494 + 0.011 1.392 £ 0.020 3.826 £ 0.035 1.359 £ 0.020
50 0.610 £ 0.009 4.370 £+ 0.025 0.710 £ 0.009 0.0948 +£ 0.0036
100 0.420 £ 0.009 2.650 £+ 0.023 0.820 £ 0.012 0.120 £ 0.0049

200 0.223 £ 0.007 1.367 £ 0.020 0.617 £ 0.013 0.104 £ 0.005
400 0.091 £ 0.005 0.638 = 0.013 0.363 £ 0.010 0.0619 £ 0.0041
600 0.0557 £ 0.0039 0.404 £ 0.010 0.241 £ 0.008 0.0375 +£ 0.0032
800 0.0359 + 0.0031 0.281 + 0.008 0.183 £ 0.007  0.0278 £ 0.0027
1000 0.0311 £ 0.0031 0.232 + 0.008 0.149 £+ 0.006 0.0242 £ 0.0027
1200 0.0254 £ 0.0026  0.196 +£ 0.007 0.123 £0.005  0.0131 +£ 0.0019
10000 | 0.0048 +0.0008 0.0414 4+ 0.0023  0.0174 £+ 0.0015 0.0020 =+ 0.0005



